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TRIBAL AND REGIONAL LANGUAGES - LITERATURE
PAPER -1I

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

Read the following passage carefully and answer question no. 1-5:

The ancestors of present Oraons arrived at the forest-area of Jharkhand which was already
developed as worth-living place for human beings by their predecessors Mundas. It appears that
the new visitors accepted the seniority of Mundas and gradually adopted their rural system
alongwith Munda Khunt and Pahan Khunt, their tribal administrative system under patties and
parhas, and even some of their religious festivals.

1.  What is the appropriate heading of this passage ?
(1) Arrival of Munda - Oraon in Jharkhand
2)

(3) Forest - Area

(4) Seniority of Mundas

New visitor

2. Which is called Forest - region ?

(1) Munda Khunt (2) Pahan Khunt (3) Jharkhand (4) Parha
3. Aguwa (Predecessors) stands for :
(1) Oraons (2) Visitors (3) Men (4) Mundas

4.  Oraons adopted which of the following :
(1) Religious festivals (2) Administrative system
(3) Both (1) and (2) (4) None of these

5.  What were made available by Mundas ?
(1) For Settlement (2) Rural - System
(3)  Tribal form (4) Seniority of Mundas

6. Language is the indicator of right (sat) and Wrong (Asat) both. Which is true of the following ?
(1) Indicator of right (Sat)
(2) Indicator of Wrong (Asat)

(3) Indicator of the above (1) and (2)

(4)

4
porons I
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AT TS S T - Hifee
ToT-UA - 11

e ;39 % 9 H 9 (100) - Toshedt™ 79 ¥ 1 UE U9 % 9 (2) 3k § 1 |t yee sifar §

frefafeq ST Al T A TR AR YT TSN 1 A5 RIS

TAHM el & Yasi T STA-UR¥, FRGUS H JeTdv gl o, f5Y Sk e, guersii 7 ued &
T & -9 & feTT 3uers &3 fen on | 3 nige quetsti ot afissal i hiyd €9 9 e Hd
ST Ted €, IR S -+ 374 guet Ye, 3iR oM We W I Sh! UTHI0 ey, Ufedl stean gganei
o ST DT FHeATE IEA-FeA! 3R 3 o it R qeh 1 off 3191 fom e
1. 39 STI=E 1 ST I FIT AT 2

(1) HUel-Rd 1 AREUS H T
T IR

(1) U1 ge (2) WM ge (3) FREUS (4) H=d

3. TeT fopoh foTq ol T § 2

(1) Ul (2) swigH () g (4) o
4. TS A TR eToe femn ?

(1) =nfifes @R (2) SmEA-goTed

3) (1) 3R (2) S A (4) Todt =1 =&
5. TUSEl A T8l 1 SHATs KA eI o ?

(1) @Wi-a91 % fou (2)  TTHU-TEE

(3) hetems €9 (4) HueE ot gt

6. YT Hq SR 3TE <M 1 SIEh Bl & | TEH Wel T ?
(1) 1 SN Bl 2|
(2) ST H S BT S|
(3) ST (1) 3R (2) A HT ey A B
(4) Tt =1 & B
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7. Who is the propounder of Dingdong theory of origin of Language ?

(1) Maxmuller (2) Heyes (3) Not known (4) Plato

8.  According to transformation of meaning (Arth parivartan) ‘Mahamurkh’ term is used for
which of the following ?

(1) Ass (2) Owl
(3) Swine (4) None of the above

9. In Linguistics, world languages have been classified in which of the following form ?

(1) ‘Akritimulak’ (2) ‘Pariwarik’

(3) (1) and (2) above (4) None of the above
10. Chinese script lacks which of the following :

(1) Alphabet (Varna) (2) Syllable (Akshar)

(3) Picture (Chitra) (4) The above (1) and (2)

11. What type of sound Ta, Tha, d, dha, Na are ?

(1) ‘Kanthya’ (gutturo - palatal) (2) ‘Talavya’ (palatal)
(3) ‘Dantyaya’ (dentilabial) (4) ‘Murdhanya’ (cerebral)

12. Do all languages have similar conjunction of ‘Arth Tatva’ (True sense) and
‘Sambandh Tatva’ ?

(1) No (2)  Yes (3) To same extent (4) Not known

13. ‘Krishna would have passed, had he studied” what type of sentence is this ?

(1) Sandeharthak (2) Sanketarthak (dietic)
(3) Ichharthak (4) Vismayarthak (exclaimatory)

14. Which of the following group of Statement (A) and Reason (R) is the most appropriate
one ?

Statement (A) : In every language, a typical sound is considered communicating typical
meaning.

Reason (R) : As that Conveys the same meaning traditionally.

Code :

(1) (A) is correct, (R) is incorrect. (2)  (A) is not correct, (R) is correct.

(3) (A) and (R) both are correct. (4) (A) and (R) both are not correct.

15. Which of the following group of Statement (A) and Reason (R) is most appropriate one ?
Statement (A) : ‘Arthadesh’ (transferance of meaning) means replacement of meaning.
Reason (R) : As “Arthadesh’ (transferance of meaning) includes the old meaning of the

word and excludes the new meaning.
Code :
(1) (A) is correct, (R) is not correct. (2) (A) is not correct, (R) is correct.
(3) (A) and (R) both are correct. (4) (A) and (R) both are not correct.
porons [N ‘ Fapec




10.

11.

12.

13.

14.

15.

T Icfd o TR g (FEEi =ilt) & g gade i & ?

(1) HeETeR (2) ©H (Heyes) (3) o (4 ==&

319} IR o TR ' HeME ' 1 TN ¥ & © ?

(1) e (2) 3o 3) gW 4) foret | &
e o B fava amoneti o fhg &9 § afierd fopan o © 2

(1) ApfageTh (2) iR

(3) ST (1) 3 (2) (4) ot =9

<t feaf & s & S & 2

(1) oo (2) R 3) f 4) s (1) @ik ()
T YT 9T HT YR *l eaf &2

(1) wvd 2 T@A (3) T 4) 7=

319 qal SR GelY e 1 AN G AT § R Uk YRR ki Bl § 2

(1) & 2 @ G) IO (4) @
‘fg T e 1 ST S0 BT |’ g Y YRR R 91 © 2

(1) HEedh 2) wrarefE

(3) wwIEE 4) fooreds

frefafed # stfierer (A) 3R RUT (R) 1 HH-H UL Faifeeh SUIH & ?
AfReA (A) :  TAH o H forddt fodim eafr ot foreht fasie stef =t arares o foren iran €1
HIT (R) : Fiifeh 98 TR & STIER 39T 31¢f o /e &1 9l 2

<< :
(1) (A) W& T, (R) & T ¢ 2) (A) TR (R) TR
3) (A) ¥R (R) S T €1 4) (A) 3R (R) S w& T

frefafed o sifuerer (A) 2R IUT (R) 1 HH-H1 TYE Faifteh SUT & ?
AR (A) : AU 1 319 T, T 3719 o TIM W TEL 371¢f M T S|

T (R) : Fiifen erefewr § vIsg ot WA 31el 31 a1 € 31 T e1ed o & = ¥
e

1) (A) T, (R) & T 7 2) (A) G& T ¥, (R) T T

3) (A) 3R (R) < W&t ¥ | (4) (A) 3R (R) S Tt &l €
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16.

17.

18.

19.

20.

21.

Which of the following group of Statement (A) and Reason (R) is most appropriate one ?
Statement (A) : ‘Akritimulak’ classification considers ‘rachna - tatva’ only as base.

Reason (R) : Whereas Family classification (Parivarik Vargikaran) takes into
consideration rachna - tatva as well as Arth-tatva.

Code :

(1)  (A) is not correct, (R) is correct. (2) (A) is correct, (R) is not correct.

(3) (A) and (R) both are correct. (4) (A) and (R) both are not correct.

Which of the following group of Statement (A) and Reason (R) is most appropriate one ?

Statement (A) : Culture is the life of Society. It is Culture which makes any country advance
or conservative.

Reason (R) : As language has its indelible effect.

Code :

(1)  (A) is correct, (R) is not correct. (2) (A) and (R) both are correct.

(3)  (A) is not correct, (R) is correct (4) (A) and (R) both are not correct.

What is the right sequence of studying Linguistics ?

(1) Vakya Vigyan, Arth Vigyan (Sematics), Dhwani Vigyan and Pad Vigyan
(2) Arth Vigyan (Sematics), Vakya Vigyan, Pad Vigyan and Dhwani Vigyan
(3) Dhwani Vigyan, Pad Vigyan, Vakya Vigyan and Arth Vigyan (Sematics)
(4)

4) Pad Vigyan, Dhwani Vigyan, Arth Vigyan (Sematics) and Vakya Vigyan

What is the right sequence of the sound of Ka, Cha, Ta, Ta, Pa ?

(1) Kanthyaya (gutto-palatal), Talavya (palatal), Murdhanya (Cerebral), Dantyaya
(dentilabial), Osthyaya

(2) Talavya (palatal), Murdhanya (Cerebral), Dantyaya (dentilabial), Osthyaya, Kanthyaya
(gutto-palatal)

(3) Murdhanya (Cerebral), Dantyaya (dentilabial), Osthyaya, Kanthyaya (gutto-palatal),
Talavya (palatal).

(4) Dantyaya (dentilabial), Osthyaya, Kanthyaya (gutto-palatal), Talavya (palatal),
Murdhanya (Cerebral)

Which is the right sequence of Alphabet - evolution ?

(1) Bhav Lipi, Dhwani Lipi (Phonetic alphabet), Chitra Lipi (pictorial alphabet)
(2)  Chitra Lipi, Bhav Lipi, Dhwani Lipi

(3) Dhwani Lipi, Bhav Lipi, Chitra Lipi

(4) Chitra Lipi, Dhwani Lipi, Bhav Lipi

What is the correct sequence of these “Varnas® (letters of alphabet) ?
(1) Sa, Sha, Sh, Ksha, Jan, Tra (2) Sha, Sa, Sh, Ksha, Jan, Tra
(3) Sh, Sa, Sha, Jan, Ksha, Tra (4) Sh, Sha, Sa, Ksha, Tra, Jan

vorons | ITHANRAN :



16.

17.

18.

19.

20.

21.

frefafed # stfuerer (A) 3R ®RUT (R) &1 HH-H UL Faifeeh SUIe & ?
AIRIT (A):  STRIdHAS TR0 H FHeet THAT-a< I STHR HET ST & |

&I (R) : STefeh qIRafieh afienor § ToHT aed o |1l & o7ef aed o oft I A T S ¢
<< :

1) (A) 9T g, (R) & 7 2) (A) G& ¥, (R) Tl & 21

3) (A) ¥R (R) S T €1 4) (A) 3R (R) S W& T

frefafed # sifuerer (A) 3R ®RUT (R) 1 HH-H UL Faifeeh SUI ¢ ?
USRI (A) : TR THNS ol SiTeH § | TEhia g Fhdl T 1 39d A1 TTd Lt ¢ |

T (R) : Fiifeh o1 W ot HHT YT A el T

e :

1) (A) 9 %, (R) T2 &l T 2) (A) R (R) < T €1
3) (A) 98 T T, (R) T&I T (4) (A) 3R (R) S Tl -7l
T T o STeme 1 el hH i © 2

(1) o foaam, =1ef faqm, s foam 3R o8 fagm
2) ¢ fagm, e foaam, 1 fomm oI waf fagm
(3) At fogm, e foqm, are fogm ST s1ef fomm
(4) I fagm, wfq fagm, o1 foam IR s fogm

%, 9, 2, <, 9 o i a0 1 Gl HH FME ?
(1) v, e, qH, T, S

(2) T, HE, T, S, F
(3)
(4)

3
4

T, T, 3Aad, HUA, dTeTH

T, 33, HUA, drerH, =

ferfy—forehr 3 0 @ % TG 37
(1) o fafy, safs faf, fo fofe (2)  form feafty, e fef, st ferfy
(3) safy fafy, we faf, fo fofe (4)  For feat, st ferfy, o ferfy

T 01 Bl HE! ShH AT ?
(1) 9937437 2 w9 EaAA
@) I|,HEYA & 4) |G &AAA
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22. Correctly match the following :
List - I
(Theory)
(a) Divyotpati Siddhant @
(b) Sanket Siddhant @@
(c) Shram Siddhant (i) Yespersion
(d) Sangeet Siddhant (iv)
Code :
@@ (b) () (d)
O @ O ) @)
@ 6 @) @ @
@) (v @) @ 0
@) @) @ 0 W)
23. Correctly match the following :
List - I List - II
(Religion) (Language)
(a) Christian (i)  Sanskrit
(b) Islam (i) Pali
(c) Buddhist (iii) Arabi
(d) Vedic (iv) Hebrue
Code :
@ ®) © (@
W @ @) () 0
@ O @ @) @)
@) G @) @ o
@) @) @ O
24. Correctly match the following :
List -1 List - II
(Language) (State)
(a) Malayalam (i) Telangana
(b) Telugu (i) Kerala
(c) Kannada (i) Goa
(d) Konkani (iv) Karnataka
Code :
@ ®) © (@
O G @ ) 0
@ @ O )
G) @ @) (@) (u)
(4) (@{dv) (i) (i)
porons [N \IHII\

(Propounder)
) Rousseau
i)  Sushmils

Noire

Paper-II



. O e St 9e9H wifay

(@ ®) () (
) () () @v) (0
) (1) (@) (iv) (i
) 0w

v) @) @ 0
LT

9 Paper-II



25.

26.

27.

28.

29.

30.

31.

Correctly match the following :
List - I List - II

(a) Arth vistar (i) Firangi
(b) Arth Sankoch (i) Akashvani
(c) Arthadesh (iii) Mandir
(d) Arthotkarsh (iv) Goshala
Code :
@ () © @
W) G O @ @
@ O G @ W)
@) @) @ @ @)
@) (v G @ @
What is the right meaning of ‘Lok” in “Lok Sahitya” (Folk Literature) ?
(1) World, Province, Society (2) People, Human beings
(3) See (4) All the above

What types of stories are “Mithak” in “Lok Katha” ?
(1) Stories related to Religion and Creation.

(2) Stories related to History.
(3) Stories related to animals and birds.
(4) Stories related to “Dayan’ and ghost.

What is the fundamental difference between Lok Gatha and Lok Katha ?
(1) Both are story telling.

(2) Both are Katha Geet (Story Song).

(3) Lok Gatha is story in singing form whereas Lok Katha is story in prose form.
(4) None of the above.

Which of the following is not included under Scattered literature in Folk Literature ?
(1) Phrases (2) Folk - drama (3) Proverb (4) Riddle

‘Folk musics are the pictures which give voice to culture’ - is the statement of :
(1) Devendra Satyarthi (2) Acharya Hajari Prasad Dwivedi
(3) Dr. Vasudev Sharan Agraval (4) Dr. Ram Khelawan Pandey

The Folk story of Madara Munda and Fani Mukut Roy belongs to the following category of
Folk Story :

(1) Myth (2) Fable (8) Fairy tale (4) Legend

vorons | ITHANRAN 1



25.

26.

27.

28.

29.

30.

31.

e e &) = Sifse
e - 1
a) 919 faEr (i)
b) e Hehr= (i)
c) Agfewm (iif) HfR
(iv) Tiremen

it - 11
TR
SATRTITETON

— N N

1
2
3
4

.~~~ o~

il Aifgcd § <k okl shi-41 37ef TEl § 2
(1) R, Y9, 9911 (2) S A1 AR, yToR
(3) T@T (4) SwdEd =

ik el B fous v geR it wom € 2
(1)  enfifer den gfe eiel Hord (2) sferm @ Heifm e
(3) UY-Tel § Heifrd et (4) SEA-YT-UT § Helferd wemd

@Ik e AR ik e H HifeTsh 3T 1 ?

(1) < H e Hel S ¢ |

2) SHIFAMAAE

(3) e en Tl H T T N ik kel T H HeT ¥
(4) STdF H I T |

Tk e | Jentol Hifecd o ST=id shiFl -T@l STl § 2
(1) HE= (2) - (3) harEd (4) Taell

‘it T Rt Tepfa o U sierd fos €1 - 3 e e €2
(1) o= geneff ) omEE T uE fgest
(3) Sl YT IO AT (4) Sl 9 Qe qued

TS Ul 3R Hi G TF i Tk AT fhT JHR 1 FHA1 § 2
(1) fhy (2) A (3) W we (4) e

vorons | HITNANEAI i



32.

33.

34.

35.

36.

Which of the following is the example of folk - drama ?
(1) Ram - Leela, Krishna Leela (2) Ras - Leela
(3) Chhau Dance (4) All the above

What is the right answer of the riddle ‘Janma lete bada, Budha hote Chhota” ?
(1) Chhaya (Shade) (2) Hal (Plough)
(3) Chand (Moon) (4) None of the above

Which of the following group of the Statement (A) and Reason (R) is most appropriate
one ?

Statement (A) : ‘Lok” word does not mean Janpad or village, rather it means all the people
scattered in towns and villages.

Reason (R) : As the basis of their practical knowledge are books.
Code :
(1) (A) and (R) are correct. (2) (A) and (R) are not correct.

(3)  (A) is correct, (R) is not correct. (4) (A) is not correct, (R) is correct.

Which of the following group of Statement (A) and Reason (R) is most appropriate one ?

Statement (A) : The literature of conservative commoners and illiterate people is not folk
literature.

Reason (R) : Whereas the works of cultured people are called refined literature.
Code :
(1)  (A) is correct, (R) is not correct. (2) (A) is not correct (R) is correct.

(3) (A) and (R) are correct. (4) (A) and (R) are not correct.

Which of the following group of Statement (A) and Reason (R) is most appropriate one ?

Statement (A) : The folk-songs of primitive stage of man reflect the collective feelings of

man.

Reason (R) : As the folk-songs sung at the occasion of different seasons and festivals are
the stories of evolution of knowledge, joy, struggle and collectivism.

Code :

(1) (A) and (R) both are correct. (2) (A) and (R) both are not correct.

(3)  (A) is correct, (R) is not correct. (4) (A) is not correct, (R) is correct.

vorons | ITHANRAN 5



32.

33.

34.

35.

36.

TSR T hT 3SR © ¢

(1) TH-efe, Feor-aftet (2) TH-gten
(3) BFT (4) ST A

ST oI g, 95 B Bl H Tl sl WEl S R
(1) e (2) =@ (3) =i (4) S | *E T

frefafed o sifuerer (A) 2R IUT (R) 1 HH-H1 TYE Faifteh SUT & ?
ARIRT (A) : Ok s oht 1 SR’ A oTe T ;e ORI o e § Sheft g, o T

S S
T (R) : Hifeh Soh ARG FH T STTHR Wi € |
< :
1) (A) 3R (R) T T 2) (A) 3R (R) Tl =& § |
(3) (A) T, (R) & T 7 (4) (A) 9& T ¥, (R) T T

frefafed o sifuerer (A) 2R IUT (R) 1 HH-H1 GYE Faiftsh SUTe & ?
AR (A) :  Tfeuw TR Affard Sar 1 Hifec, ek |fec el €
HIT (R) : STefeh GHEHT ST i i aRkfAftsd a1 fre wifecr seardt g1

Tzﬁ‘:
1) (A) T, (R) & T 7 2) (A) G& T ¥, (R) & T
3) (A) R (R) Tl €1 4) (A) 3R (R) @&l & T

frefafed # sifierer (A) 3R ®RUT (R) &1 HH-H UL Faifeeh SUI ¢ ?
ARk (A) : AT F 3TCHIA o cAlhTdl B T hl FHfEH o e g8 € |
I (R) : Fiifer fafir e Td Sca | M S A1 alehid TFa-FH & foehm, 3oy,

e SR W feshar &l e § |
<
(1) (A) 3R (R) < =&t § | 2) (A) 3R (R) S Tl 7l
(3) (A) WEE, (R) & T ¢ 4) (A) =& TE E (R) T F
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37.

38.

39.

40.

41.

Which of the following groups of Statement (A) and Reason (R) is most appropriate one ?

Statement (A) : The folk stories based on the events taken place in ancient time have been
named ‘myths’.

Reason (R) : Because these folk stories include the non-religious beliefs of mass, events
related to creation, worldly traditions of people etc.

Code :

(1) (A) and (R) are correct. (2)  (A) is correct, (R) is not correct.

(3) (A) and (R) both are not correct. (4) (A) is not correct, (R) is correct.

What are the right sequence of ‘Manav Samskaras” ?

(1) Birth (Janma), Chhathi, Kanbedhi, Vivah (marriage), Mrityu (Death)
(2) Vivah, Janma, Kanbedhi, Chhathi, Mrityu

(3) Chhathi, Janma, Kanbedhi, Vivah, Mrityu

(4) Mrityu, Janma, Kanbedhi, Vivah, Chhathi

What is the right sequence of different forms of Folk Literature ?

(1) Prakirna Sahitya (Scattered Literature), Lok Natya (Folk Drama), Folk tale, Ballad,
Folk Song

Lok Natya, Lok Katha, Lok Gatha, Lok Geet, Prakirna Sahitya
Lok Katha, Lok Gatha, Lok Geet, Lok Natya, Prakirna Sahitya
Lok Geet, Lok Gatha, Lok Katha, Lok Natya, Prakirna Sahitya

—_~ o~ o~
= W N
~—~ ~— ~—

What is the right sequence of these festival songs ?
(1) Sarhul, Faguwa, Jeetiya, Karam, Sohrai

(2) Faguwa, Sarhul, Karam, Jeetiya, Sohrai
(3) Sohrai, Jeetiya, Karam, Sarhul, Faguwa
(4) Karam, Jeetiya, Sohrai, Sarhul, Faguwa
What is the right sequence of Vivah Samskara ?
(1) Kanya Mulya, Vidai, Vivah, Chumawan
(2) Vivah, Kanya Mulya, Chumawan, Vidai
(3) Kanya Mulya, Vivah, Vidai, Chumawan
4)

4) Vivah, Kanya Mulya, Vidai, Chumawan

vorons | ITHANRAN 1



37.

38.

39.

40.

41.

frefafed # stfuerer (A) 3R ®RUT (R) &1 HH-H UL Faifeeh SUIe & ?
AMUFRYT (A) : U= el | wfed sea1sl W AHia s et sl fay am § s1fyfed foran mn

gl

I (R) : Fiifch 7 clieh HAll § SH-THe™ & e, fovam, gite Gaeht geed, s
i lifoheh TS S 1 THE Bt

e

(1) (A) 3R (R) @& & 2) (A) T& T, (R) 92 & B

3) (A) 3R (R) SH &l & € 4) (A) 9@ TE R, (R) T B

e HERRI 1 T S 1 7 ?

(1) 9, 31, wHa, foar, 99 2) faarg, S, S, S8, 99
(3) B, I, wHa, foare, 99 (4) 99, I, A, foarg, Bdt

A Tifecd i aunsh = we wH *n e ?

(1) Yhivl Hifgcd, <ok AT, Teh M, Tieh M, Teh T

(2) e 1S, Wik e, Tk AT, ek T, Jhivl Hifgcd
(3) @R M, ik M, Teh Tiid, ek A1, Jhivl Hifecd
(4)

4

e T, Ceh TN, Tk el ek A1ed, Tehivl gifecd

S 3T Tl T Wl oA T8 ?

(1) |, W, Shf, www, e
(2) IR, G, T, Siiaa, [els
(3) HIEE, Shfaa, i, TEd, T
(4)

4) A, S, HeE, WEd, W
foaTe HEhR 1 W hA T 7

(1) A, facw, foem, JaeH

(2) faarE, =, gaeH, focr

(3) e, foer, facr, gomEd

(4) o, F=me, faew, g
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42. Correctly match the following :

List -1

List - II

(Folk Literature) (Example)

(@) Lok Geet
(b) Lok Gatha
(c) Lok Katha
(d) Lok Natya
Code :

(@) (b)
1) (v) (i)

(i)  Applying turmeric (Haldi Lagana)
(i) Ras Leela
(iii) Seven brothers and one sister

(iv) Soso bonga

43. Correctly match the following :

List -1
(
(b)
(c) Krodh Nase buddhi
(d) Kis “Aankh’” Ko Fore
Code :
(@ (b)
1) () (i)
() () ()
G) @) G
@ O G
yarons [ [ H11]]

a) Kar ke jeeto bol ke Nahi

Khate Murga Anda Khaye Billi

List - II
i)  Both beloved
ii) Not clear as what to do
iii) Others get benefit

iv) Supremacy of work

() (d)
i) ()

@ (i)
(iv) (i)
(i)  (iv)

i z



42. W& fHem & 9e9H wifeq

g - 1 gt - 11

(ireR e ) ( 3TETT)
(a) Ik T (i) & M
(b) e e (i) TH wten
(c) e wem (i) | 9T TH ST
(d) e e (iv) HErEem
e :

@@ () (9 (d
1) Gv) @) @) @
2 @ (@Gv) (@) (i)
3) () (@) (@) ()
4) (@) @@ (v) (i)

43. W& fHam i 9g= i

Tl - 1 gt - 11

(a) T Sl siet HT TR () <SHi=Em
(b) @ H, 3fer @ foeat (i) 3T ¥ 7 3T
() hIY TV f5 (ili) TH T T
d) foa o = W (iv) H I G
<
@@ () (o (d
1) Gv) @) @ @
(2) (@) @@ @) ()
®) (@) @ (v) (i)
4) @@ (@) () (i)
voross {1 HNNIHTAN L
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44. Correctly match the following :

List - I List - II
(Riddle) (Answer)
(a) Safed Murge Ki hari Poonchh (i) Dharna - Chhappar
(b) Jata hai par Lautata Nahi (i) Hotiron
(c) Lal Bakra pani piye (iii) Ban (arrow)
(d) Pahan dhoye pahnain pahnain dhoye bachcho ko (iv) Muli (Radish)
Code :
@ () © @
O O G @) @
@ @ O G @)
@) (v G @ @
@) @) @ 6 W)
45. Correctly match the following :
List - I List - II
(Folk Story) (Category)
(a) Sarhul Katha (i)  Story of animal-birds
(b) Story of crow and Jackal  (ii) Comedy story
(c) Story of Akbar - Birbal (i) Legend Story
(d) Fani Mukut Roy Katha (iv) Myth
Code :
@ () ©
O O G ) @
@ @ O @ @)
@) G @) @ 6
@) v 6 @ )

46. The four Vedas of Vedic Literature include :
(1) Rigveda, Yajurveda, Samveda, Atharvaveda
(2) Sambhitas, Brahmas, Aranayakas, Upanishads Vedangas
(3) Adhvaryu, Udgata, Brahma, Udgeeth
(4) None of the above

47. What is the thought of Upanishad ?

(1) Philosophical thought (2) Thought of four Vedas
(3) Thought of four Vernas (4) Thought of four Ashramas
poras | HHNHARI s Fapec




44.

45.

46.

47.

et e &t g= wifse

T -1 T - 11

(e e ) (=)

()  O-uEd A
(i) ST e

3R ST i el (ili) SIS el

d) RO Hpe TF T kAT (iv) fHe e

iv) @) () (i)
Sfeew Tifec & =Rl Agl | F-== gHIfed © 2

(1) %, ISae, HHAT, TYaag

(2) Wfeard, sTeTUmY, IRUAE, SUfug SEi

(3) e, S, R, Sy

(4) ST B T

Sufoel # forgen fam € 2

(1) <wEif® T o (2) = SR
(3) = il 1 (4) =R s

)
vorons | HITNANEAI 1
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48. What are the parts of Vedangas ?
(1) Language, Grammar, Literature, Culture
(2) Vedas, Puranas, Upanishadas, Gagan, Dhara
(3) Siksha, Kalpa, Vyakaran, Nirukta, Chhand, Jyotish
(4) Sky, Ganga, Earth, Air, Fire
49. How many kands are there in Ramayana ?
1 9 2 5 3 6 4 7
50. The most appropriate statement for Mahabharat is :
(1) Religious History Book
(2) History Book related to Puranas
(3) The saurus of Indian Civilisation and Culture.
(4) Destruction of Indian Knowledge and Science.
51. Who is the great poet of ‘Kumar Sambhava’ and ‘Raghuvansha’ ?
(1) Kalidasa (2) Surdasa (3)  Tulsidasa (4) Bhavabhuti
52. ‘Tripitic’ contains the preachings of :
(1) Mahavir Jain  (2) Lord Buddha (3) Mahakashyap (4) Samrat Ashok
53. Which type of stories are there in “Jataka Katha’ ?
(1) tales of origin of different castes (2) tales worth to know
(3) tales of Ajaatshatru (4) tales of “Purva Janm” of Lord Buddha
54. Which option is correct for the following Assumption (A) and Reason (R) ?
Assumption (A) : Acharya Ramchandra Shukla named the first period of Hindi
Literature as “Veergatha Kaal'.
Reason (R) : According to him most of the writing depict the avoidance of war.
Code :
(1) (A) and (R) both are correct. (2) (A) and (R) both are wrong.
(3) (A) is correct, (R) is wrong. (4) (A) is wrong, (R) is correct.
porons [N 2 Fapec




48.

49.

50.

51.
52.

53.

54.

vorons | HITNANEAI n

A H - 371 E 2

(1) T, TR, Hifed, TE&hid
(2) 9T, QX IS, WM, &R/

(3) Toem, shew, SR, e, S, ifay
(4)

STRTE, T, geafl, a7y, 1A

TR § fohad h10g § 2
1 9 2) 5 3) 6 4 7

TEIYRA % Tl Gord SUgad [ ® ¢

(1) *nfee sfaem geen

(2) ORI SfaeE Y

(3) YR Tl IR TR w1 fowashma
(4) R I - o= 1 fommn

‘FUREYE’ i TEW HEREA % TEIHT B © 2
1) e (2) He (3) e (4) wayfa

‘fafges’ (fafgew) o forder o=l 1 TUB ©?

(1) WEER SH (2) WTEH IS (3) HIRIY (4) TR TiH

‘STTdeh e’ H HEt et ¥ 2
(1) fafve snfaat 6t scafa wen (2) ST 9T e
(3) e Hi hemd (4) WM g5 R Y S Hed

frefafed # sifuerer (A) 2R IUT (R) 1 HH-H1 TYE Faifteh SUTe & ?
AR (A) : AT TS Yo A o<t e & el h1et 1 A e it fea 7

I (R) : iR ITeh STTER T A i ATHT A | 5 T F= 1 Foom 71
<< :

(1) (A) 3R (R) < T 1 2) (A) 3R (R) S w& T

3) (A) 9 ®, (R) W& &l T 4) (A) ¥& T, (R) T T



55.

56.

57.

58.

59.

Which option is correct for the following Assumption (A) and Reason (R) ?
Assumption (A) : Bankim Chandra is famous as a poet as well as a Novelist.
Reason (R) : But he is called father of the Bangla Novel.

Code :

(1) (A) and (R) both are correct. (2) (A) and (R) both are wrong.
(3)  (A) is correct, but (R) is wrong. (4) (A) is wrong, but (R) is correct.

Which option is correct for the following Assumption (A) and Reason (R).

Assumption (A) : Development of Assamese, Bangla, Oriya is based on similar language
situations.

Reason (R) : Beginning of their Literary history is seems to be similar.

Code :

(1) (A) and (R) both are wrong. (2) (A) and (R) both are correct.

(3) (A) is correct, but (R) is wrong. (4) (A) is wrong, but (R) is correct.

Which option is correct for the following Assumption (A) and Reason (R) ?
Assumption (A) : Propounder of Neo romantic and feeling of nationality in Tamil poetry
is the great poet Subrahamanian Bharti.

Reason (R) : In his early age he freed the Tamil poetry from bondage of old theme
and style and did not integrated it with Nationality, humanity, Love
with Universe, and practical spirituality.

Code :
(1) (A) and (R) both are correct. (2) (A) and (R) both are wrong.
(3) (A) is correct, (R) is wrong. (4) (A) is wrong, (R) is correct.

In Dravid Language - Literature which is the right sequence in order of their origin ?

(

—

Malayalam, Telugu, Kannada, Tamil

)
(2) Telugu, Kannada, Malayalam, Tamil
(3) Kannada, Tamil, Malayalam, Telugu
(4) Tamil, Telugu, Kannada, Malayalam

Which is the correct sequence of poets of Hindi Literature in chronological order ?

(1) Vidyapati, Kabir, Jayasi, Surdas, Tulsidas

(2) Kabir, Vidyapati, Tulsidas, Jayasi, Surdas
(38) Jayasi, Tulsidas, Surdas, Kabir, Vidyapati
(4) Tulsidas, Kabirdas, Vidyapati, Jayasi, Surdas

vorons | ITHANRAN 2



55.

56.

57.

58.

59.

frefafed # stfuerer (A) 3R ®RUT (R) &1 HH-H UL Faifeeh SUIe & ?
AfeRe (A) :  Siformears *fa qen IT=TEER I w4 H 9fas )

%I (R): feheg = SITTET SU=ITT T S el Sl & |

e

(1) (A) 3R (R) < T 1 2) (A) 3R (R) S W& T
() (A)FEE, (R) W T T (4) (A) W T E, (R) TR

frefafed # sifuerer (A) 3R ®RUT (R) &1 HH-H UL Faifeeh SUIH & ?
freRe (A) : 1Al Sien SR 3fean w1 fowra wr: weh-dt v feufa &t 39 ¥
HIT (R) : iR gk Tfefcaeh Sfaer ot YeeTd ot Uk |t & et fem vedt €1
<<

1) (A) 3R (R) S Terd €1 2) (A) 3R (R) < =& ¥ |

(3) (A) T, (R) & T 7 (4) (A) 9& T %, (R) & T

frefafed o sifuerer (A) 2R IUT (R) 1 HH-H1 g Faifteh SUTe & ?

AfreRer (A) :  dfa wrea § 2 Tiifess iR TEH- WIaAT 3 ST Helhia Yorervd e € |

I (R) : Fifh TR I Te9 o+ § & e+ &l g fawgasg $ R
STeft-To1ed o o2 | Yo Y T, AHeEr, favauy $iR SR T

Y gHfad el foha |
<<
1) (A) 3R (R) < =&t § | 2) (A) 3R (R) S Tt &l
3) (A) 9 ®, (R) W& &l T 4) (A) 98 T, (R) T T

sfae arw-difecs & ot 9o &% %Y 9 & A § 2

(1) HAIH, I, g, dfHd (2) AT, TS, HAAH, dfHe

(3) T, AfHd, HedeH, dd7] (4) dfFd, 9T, FTS, AR

&=t Wifec o hIeTshA ¥ HIF-91 TUE Hiod 1 & ¢ ?
(1) Toramafd, =iy, ST, TE™, Jde™

(2) e, faemafd, Josie™, S, e

(3) STFHl, Jodie™, YEM, Fer, faemfd

(4) JHIeE, Hheier, fommafd, S, JEe™

vorons | HITNANEAI 2



60. Arrange the following dramatists in chronological order :
(1) Prasad, Bhartendu, Dharamveer Bharti, Mohan Rakesh
(2) Bhartendu, Prasad, Dharamveer Bharti, Mohan Rakesh
(3) Dharamveer Bharti, Prasad, Bhartendu, Mohan Rakesh
(4) Mohan Rakesh, Bhartendu, Prasad, Dharamveer Bharti
61. Arrange the following novelists in chronological order :
(1) Agyeya, Yashpal, Premchand, Prasad, Jainendra
(2) Prasad, Yashpal, Agyeya, Premchand, Jainendra
(3) Premchand, Prasad, Jainendra, Agyeya, Yashpal
(4) Yashpal, Agyeya, Prasad, Jainendra, Premchand
62. Match the List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Literature) (Author)
(a) Manimaklai (i) Kulvanigan Shattnaar
(b) Padmavat (i) Malik Muhammad Jayasi
(c) Sevasadan (i) Premchand
(d) Chitralekha (iv) Bhagwati Charan Verma
Code :
@ () © @
1) @ @@ 6 )
@ (v @ @)
@) O G @ W)
@) G O v @
63. Match the List - I with List - II and select the correct answer from the code given below :
List - I List - II
(Poet) (Creation)
(a) Ghanananda (i) Malati Madhava
(b) Raskhan (i) Ritusamhara
() Kalidas (iii) Sujanhit
(d) Bhavabhuti (iv) Prem Vatika
Code :
@ (®) (9 (9
1) @ @) @ 6
@ ) @ 6 )
@) @ O @) @)
@) O G @) (@
poross [ [1HIANHLAAN 2
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60. HI-3H T TEHHR] hl Tt HY FA T ?
(1) TR, YRdS, YHaR YR, A qhdl
(2) YRGS, NG, YHAR YR, Hg TR
(3) UHER 9Rdl, Y, YRd-g, Hgd Thsl
(4) IR ThY, YRA-, THIG, YH AR
61. T&< U=l H Sicishy O Tel shH R ¢ ?
(1) 3=, IR, YA, J9E, S s
(2) THR, I, 3T, THa=<, S=
(3) UHER, YHIE, S, 3T, IR
(4) IO, I, TR, S, A<
62. He facTH 1 9g=H HifeT
et - 1 et - 11
(arfEe ) (TR )
(a) HOTHRC (i) FHAETONHE AR
(b) UgHTE (ii) WfcTh Herg STl
() HaTERH (iii) =
(d) fesrrE (iv) HTadt =07 9t
<
(@ () (o (d
() @) @) @ @Jv)
(2) (@v) @) @) @)
@) @ @) @) (@v)
(4) (@) (@ () (1)
63. W& U™ &I Tg=H SifsT
et -1 et - 11
( TTFTeRTT ) (=)
(a) MG ()  HIerdl "EE
(b) THEH (ii) SRIHER
(c) hIfeTer™ (iti) gSIHred
(d) wayfa (iv) UH afesht
<<
@@ () () (d
(1) @) @v) @G) @
(2) (@v) () @ ()
(3) (ii) (i) (111) (iV)
(4) (iv) (i)
Farons il 25
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64. Match the List - I with List - I and select the correct answer from the code given below :
List - I List - II
(Period) (Work)
(a) Vedic period (i) Aansu
(b) Veergaatha kaal (i) Bihari Satsai
(c) Riti kaal (iii) Kirtilata
(d) Chhayavad (iv) Shrimad Bhagwat Purana
Code :
@ (® (9 (9
U @ @ 6w
@ ) @) @ o
@) @ O @ W)
@) 0 @ @ @)
65. Match the List - I with List - II and select the correct answer from the code given below :
List - I List - II
(Bhakta) (Bhakti)
(a) Meerabai (i) Krishna
(b) Jayasi (i) Gyanmargi
() Valmiki (i) Ram
(d) Kabir (iv) Prem Margi
Code :
@ () © @
O @ 6 @ W)
@ @) @ 6 @)
@) v @) @ o
@) O Gv @) (@
66. Find the cause which is correct about the ‘Kavya-hetu’.
(1) Talent (2) Derivation
(3) Practice (4) All the above three
67. Which is not a correct option for ‘Kavya Prayojana” ?
(1) Rigid and boring preachings
(2) Attainment of Dharma, Aratha, Kama and Moksha
(3) Behavioural knowledge, relief from ‘Amangala’
(4) Eternal happiness, immortality
68. Which Bhava is not correct according to Kavya Shashtra ?
(1) Sthayi Bhava (2) Vibhava - Anubhava
(3) Sona Bhava (4) Sanchari Bhava
poross [ [1HIANHLAAN 2 Fapec




64.

65.

66.

67.

68.

e e &) = Sifse

‘HT1T-Tq F T HE-H FROT T T ?
(1) wfqu (2) g

‘FHIF-FASE U HhiH-91 fashey e 6l 8 2

(=
oy

A~ /N o/~
[ o e .

(1) SR Td RE 39V )

(3) SHIRR-M, AT g (4

1A A | HIF-H1 9 Tl & & 2
(1) Torl e (2) faurE-sgyE
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69. In Pre-Plato period what was inspiration for creation of poetry ?

(1) Individual (2) God (3) Guru (4) Society

70. Who was the most favourite disciple of Socrate ?

(1) Aristotle (2) Plato (3) Horrace (4) Loginus

71. Major principle of Unani ‘Kavya Chintan’ is :

(1) Prerna (2) Anukaran (3) Virechan (4) All above

72.  Which of the following has been discussed by Aristotle in his famous book “Poetics” as a
‘Anukarnatmak Kavya” ?

(1) Surprise ending (2) Tragedy (38) Comedy (4) (2) and (3) above

73.  Which one is most appropriate statement about Art ?

(1)  Art for Lifes sake

(2)  Art for Arts sake

(38)  For the integration of Art and Life
(4)  Art for the happiness

74. Which option is correct for the following Assumption (A) and Reason (R) :
Assumption (A) : According to Plato Poetry is harmful for the society.

Reason (R) : Which is based on false, cannot be useful.
Code :
(1) (A) is correct, (R) is wrong. (2) (A) is wrong, (R) is correct.
(3) (A) and (R) both are correct. (4) (A) and (R) both are wrong.

75. Which option is correct for the following Assumption (A) and Reason (R) ?
Assumption (A) : Poetry is not the best means of culture.

Reason (R) : Culture is the synonym of incompleteness of life.
Code :

(1) (A) and (R) both are correct. (2) (A) and (R) both are wrong.
(3)  (A) is correct, (R) is wrong. (4) (A) is wrong, (R) is correct.

76. Which option is correct for the following Assumption (A) and Reason (R) ?
Assumption (A) : When Youth is not happy (Jab Desh ki Jawani Jal Rahi Ho),
Reason (R) : Art cannot flourish (“To Kala Bansuri Nahi Baja Sakti”)
Code :

(1) (A) and (R) both are wrong. (2) (A) and (R) both are correct.
(3)  (A) is correct, (R) is wrong. (4) (A) is wrong, (R) is correct.
11 11—




69.

70.

71.

72.

73.

74.

75.

76.

@il Q- H h1eA-TIAT Rt YIOT fohdahl off ?

(1) AT (2) I (3) &I (4) GHS i

R & IHE s & o ?

(1) & 2 == (3) TRE (4) wfTIE

AT Shrea-Teiad & g fag €

(1) oom (2) SR (3) for=r (4) SwdE I
3 A T Yiag vy giefeey’ § fordent ==l ST oA & 9 H ht T2

(1) sme=Erd (2) 3@ (3) o= (4) ST (2) 3 E)

Fell & Heie T Gaiiersh SUe HUT F1 7 2
(1) el S % forg (2) e, el & fag
(3) el iR Sfred & Ioad & faw  (4) el had IR o fog

frefafed # stfuerer (A) 3R RUT (R) &1 HH-H UL Faifeeh SUI ¢ ?
ARTRIT (A): ™ & Td H HT GUS & foIg B
T (R) : Hiifen foreent STom & faen 2, 98 Swirdt sl 21 21 Well © 2

e
1) (A) T, (R) & T 7 2) (A) G& T ¥, (R) & T
3) (A) 3R (R) < W&t ¥ | (4) (A) 3R (R) S Tl 7

frefafaa # sifiere (A) 3R SROT (R) 1 HIF-91 TE Faiferen Iug & ?
AFURYT (A) : oA T HERIA I HalTad WIeH T &,
T (R) : Fifer SfTa i STYUTdT 1 WS § HEh(a |

<
1) (A) 3R (R) < T 1 2) (A) 3R (R) S T T
3) (A) §& E, (R) W& &l T 4) (A) ¥& T, (R) T T

frefafed # stfierer (A) 3R ®RUT (R) &1 HH-H UL Faifeeh SUI ¢ ?
JAMURT (A) : S9SN I ST S W& a,

HIT (R) : 1 el STgA TEl ST T |

<

(1) (A) 3R (R) S =& 7 ) 2) (A) 3R (R) S = ¥ |
(3) (A) T (R) ¥ T 7 4) (A) TR, (R) TR
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77. Which option is correct for the following Assumption (A) and Reason (R) ?
Assumption (A) : Heart of the creative human is the reflection of creative power of the
God.
Reason (R) : Because he is the basic cause of all the human knowledge.
Code :
(1) (A) and (R) both are correct. (2) (A) and (R) both are wrong.
(3) (A) is correct, but (R) is wrong. (4) (A) is wrong, but (R) is correct.
78. Select the correct sequence from the following :
(1) Abhidha, Vyanjana, Lakshana
(2) Satyam, Sundaram, Shivam
(3) Rasa Dosha, Shabda Dosha, Artha Dosha
(4) None of above
79. Arrange the following in correct chronological order :
(1) Rama, Krishna, Harishchandra, Gandhi
(2) Harishchandra, Rama, Krishna, Gandhi
(3) Krishna, Rama, Harishchandra, Gandhi
(4) None of above
80. Arrange the following Greek scholars in chronological order :
(1) Plato, Aristotle, Socrate (2) Aristotle, Plato, Socrate
(3) Socrate, Plato, Aristotle (4) None of above
81. Find out the incorrect in view of the ‘Kavya Bheda” :
(1) ‘Chhanda’ - Prose, Poetry, Mixed
(2)  On the basis of form - Visual, Audio
(3)  On the basis of beauty - Uttam, Madhyam, Adham
(4) History, ‘Purana’, Vyakarana
82. Match the List - I with List - I and select the correct answer from the code given below :
List - I List - II
(Sthaayi Bhava) (Rasa)
(a) ‘Nirved (i) ‘Shanta’
(b) ‘Vismaya’ (i) Adbhut
()  Jugupsa’ (iii) Vibhatsa
(d) ‘Bhaya’ (iv) Bhayanak
Code :
@ () © @
W) (v @ @ o
@ O @ @) @)
@) @ @ O )
@) @ O G G
111 —




77. Trafafed § sifierer (A) iR SRUT (R) 1 HH-91 T Halfeewh 3T & ?
AR (A) : Yol T 1 T IR shi Fei-vifed o1 & gfafers g1
T (R) : Fiifeh 98 YUl AHa-F 1 A FR R |
<< :

(1) (A) 3R (R) < T 1 2) (A) IR (R) S T2 T B |

(3) (A) T, (R) & T 7 (4) (A) 9& T ¥, (R) 9 T
78. STH W& Y ! Y hITT :

(1)  eAfen, =S, e (2) 9IH, g<w, e

(3) M, v Ty, 31ef T (4) SwdEd H I Tl

79. IR T TH W&l ¥ hH i GgAM HiTT
(1) =, Fo, gwems, e 2) Tfwes, Tm, Fo, T
(3) Fo, T, giwes, e (4) 9 H FE T

80. T IATI foIgHI o HTeTshH hl Ug= HhifIT
(1) =, ST, T (2) ORE], I, Yo
(3) g, wiel, & (4) o H HIE &

81. HA-UT hl g | A ! TG HifSIT :

(1) BT & AUR R - 77, 7, fag

(2) &Y F YR K - W, FA

(3) THUACT o YR W - IqH, HeAH, 3T8H
(4) Sfdem, g, SR

82. W&l UM =l U= HifT :

T - 1 gt - 11
(T WTE ) (=)
(a) Freig i) wma
(b) fowm (i) TR
(c) S (i) "
(d) «3 (iv) HITTh
<
(@ () () (d
(1) (@Gv) (@ @G @)
(2 @ @@ @i ()
E3§ (iii) (ii) ( 2]) (i;)
parons \IHIIHII“IH|||||\|||H\||\|HH||||| il d
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83. Match the List - I with List - I and select the correct answer from the code given below :

List - II

Lajja (Shyness)

Tears (Aansu Bahana)
‘Alamban - Joker’
Love (Rati)

84. Match the List - I with List - I and select the correct answer from the code given below :

List - II

Suddenly comes in heart
Regular feature of ‘Rasa’
Melting of heart

Zeal in heart

85. Match the List - I with List - II and select the correct answer from the code given below :

List - I

(a) ‘Sthayi Bhava’ @)
(b) ‘Vibhava’ (ii)
(c) Anubhava (iii)
(d) Sanchari Bhava (iv)
Code :

@@ (b) () (d)
1) G @) @ 6
@ @ @ 6 @)
@) @ O v ()
@ O @ @ @)

List - I
(a) ‘Guna’ @)
(b) ‘Madhurya Guna’ (id)
() ‘Oja Guna’ (iii)
(d) ‘Prasad Guna’ (iv)
Code :

@ ®) © (@
O 6 @ G W)
@ @) O @ G
@) @ @) @) 0
@) G @) O @

List - I

(a) “Anukriti’ theory @)
(b) ‘“Anukaran’ theory  (ii)
(c) ‘Virechan’ theory (iii)
(d) ‘Kalpana’ theory (iv)
Code :

@ ®) (© (@
1) G @) @ 6
@ 6 @) @ @
@) @ O Gv) ()
@) @) @ 0O )

s [N

List - II

Aristotle

Plato and Aristotle
Plato

Coleridge
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83. W&l UM =l U= HifT :

et -1 et - 11
(a) TR ¥E () &=
b) fawa (i) oA T
(c) STV (iti)  STATT-SRT
(d) HAE wE (iv) | ()
<<
@@ () (9 (d
1) (v) @) @) @
2) (@) @@ @ @)
3) (@) (@) (v) (i)
4) @@ (@) () (i)
84. W& T #I TedH FIfT :
e -1 e - 11
(@) T (i) SR geT A B S
(b) g o (i) T 1 ud
() =T (i) &SF Zfod B
(d) wEE T (iv) TS H e S B
<
@@ () (o (d
1 @ @) @) (@)
2) (v) (@) () (i)
3) (@) @) @) @
4) (@) @Gv) @) ()

85. W&l UM i U= HifT :

EZ; U ISEAL] E) el SR ST
() fam=m fagm (ili) =i

(d) e fagr (iv) RIS

e @@ @) (o (d

(1) (@v) (@) @) @)

(2) (@) (@v) (D) (i)

3) @@ @ (v) (i)

(4) (@) @) @ (@)
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86. Which option is correct for the following Assumption (A) and Reason (R) ?

Assumption (A) : Before the arrival of British independence and autonomy of the tribals
was intact.

Reason (R) : Because their culture was unique in its simplicity, freedom and
exhilaration.

Code :

(1) (A) and (R) both are wrong. (2) (A) and (R) both are correct.

(3)  (A) is correct, (R) is wrong. (4) (A) is wrong, (R) is correct.

87. Which option is correct for the following Assumption (A) and Reason (R) ?
Assumption (A) : People of Jharkhand do not love art.

Reason (R) : Because after working hard for all the day they enjoy “Akhra - Kala”
at night.

Code :
(1) (A) is correct, (R) is wrong. (2) (A) is wrong, (R) is correct.
(3) (A) and (R) both are correct. (4) (A) and (R) both are wrong.

88. Identify the correct sequence in descending order of their population :
(1) Asura, Birhor, Birjiya, Shabar (2) Birhor, Birjiya, Shabar, Asura
(3) Birjiya, Shabar, Asura, Birhor (4) Shabar, Asura, Birhor, Birjiya

89. Identify the correct sequence in increasing order of their population :
(1) Banjara, Khond, Bathudi, Baiga (2) Khond, Bathudi, Banjara, Baiga
(3) Bathudi, Banjara, Baiga, Khond (4) Baiga, Khond, Bathudi, Banjara

90. Munda, Ho, Kharia and Oraon dances respectively related to :
(1) Jadur, Hariyo, Faggu Khaddi, Jomnama

(2) Jadur, Jomnama, Hariyo, Faggu Khaddi
(3) Jomnama, Jadur, Faggu Khaddi, Hariyo
(4) Faggu Khaddi, Jomnama, Hariyo, Jadur

91. Identify the correct sequence of the tribal instrument which are played by blowing, rasping,
striking and shaking respectively :

(1) Thechka, Bansuri, Banam, Mandar
(2) Mandar, Thechka, Bansuri, Banam
(3) Bansuri, Banam, Mandar, Thechka
4)

4 Banam, Mandar, Thechka, Bansuri
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86. frfafed o sifirerer (A) 3R SRUT (R) 1 HH-91 T Halfeh ST & ?
AMIRAT (A) : TSI o STEA & I SIS ohi Tasdl SR AT ST STJ00T off |
IUT (R) : ik 3T WL 7T TReAdT, Teswadl 3R Seairauaal § 2fgd of |
?f:(A)?:ﬂ'{(R)‘qﬁ:ﬁﬂ'iﬁﬁ%I 2) (A) 3R (R) < =& ¥ |
3) (A) 9 ®, (R) W& &l T 4) (A) ¥& T, (R) T T
87. Trfafed & sifirerer (A) iR SRUT (R) 1 HH-91 T Halfeh ST & ?
AR (A) :  TREUS & AN el 7= el B |
HIT (R) : Fiifer 3 fe7eR o *feT 99 % o1 T § SFGU-hell § A& & 9 ¢ |
?f:(A)W%, (R) Tt =&l 1 2) (A) 9& T ¥, (R) T T
3) (A) ¥R (R) S T 1 4) (A) 3R (R) S w& T
88. Al U % TAR W&l A i T HIFWT :
(1) o, forER, faefSman, e ) To@ER, foxfoan, wer, o1t
(3) forfeman, v, o1y, faER 4) R, SR, foER, faefsran
89. Gl SHEA e TTUR W&l HH Sl IgAM DI :
(1) S9N, Gie, Y, o (2) Eie, MYS, ISR, oM
(3) YL, IS, M, Wi (4) oM, i, MY, TSR
90. U, T, Wiea IR U & T HI TeAH 3 HH H H
(1) Y, B, g Eedl, S
(2) Y, S, BeH, F
(3) SIHA™I, SIgY, W] Weal, Bl
(4) W] Eaal, SEAH], SR, SgR
91. e Y, I K, We HX R el A IO T S SN STl 1 WE i e g6 % |
H
(1) o, gy, oH, Al (2) W, STH, ArGH, s
(3) I, SH, HiCT, SH] (4) &Y, HicT, S=H, S
roross | [L MR 5 Paperi




Match the List - I with List - IT and select the correct answer from the code given below :

List - II
(Work)
(i) Sharpening ‘Far’ of a plough
(i) Iron melting
(iii) Rope making
(iv) Weaving of cloth

- IT and select the correct answer from the code given below :

List - II

(Favorite God) (Aaradhya Dev)
Thakur Jiu

Ponomesar

Dharmesh

Singbonga

In the context of Tribal Culture Match the List - I with List - II and select the correct answer

92.
List - I
(Caste)
(a) Cheek Baraik
(b) Birhor
(c) Lohara
(d) Asura
Code :
@@ (b) () (d)
1) v @@ 0 @
@ @ O @ @)
@) O G @) ()
@) @ @) @ o
93. Match the List - I with List
List - I
(Caste)
(a) Munda (@)
(b) Santhal (ii)
(c) Khariya (iii)
(d) Oraon (iv)
Code :
@ () © @
M) (v @ @ )
@ @ O @ @)
G) O @ @) @)
@) (v 6 @ )
94.
from the code given below :
List - I
(a) Society
(b) Politics
(c) Religion
(d) Dance expressions
Code :
@@ (b) (9 (d)
1) G @ @ 6
@ v @@ 0 @
@) @ 6 @ W)
@) 6 @ v @
s [ ILN

List - II
(i) Naturalist
(i) Collective
(i) Democratic
@iv) “Adim Samyavad”
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92.

93.

94.

e e &) = Sifse

et - 1

T - 11

(e ) (=)
(a) Ik IEEH (i) THR TGS
(b) foER (i) R ITAH
(c) T (i) T A
(d) e (iv) FSl T
<<
(@ (b) (o) (d)
(1)  @v) () (@) (i)
(2) @) @ @) ()
@) @ @) (v) (i)
(4) (@) (v) (@) @
"\T@' e =) e= aﬁﬁq :
T - 1 Tt - 11
(smfa) (3T 2 )
(a) HUeT (@) o=
(b) A (i) AEHEER
(c) @fea (iii) THw
d) & (iv) fassim
<
@@ (b) (o) (d)
1) (@v) @) (@) (i)
(2) @) (@) (@) (i)
G) (@ () (D) (i)
4) (v) @ @) (i)
SIS G&hid o ded H Wer e &l T8dm i
et - 1 T - 11
(@) EHS () THfdER
(b) TS (i) @mfew
(c) = (iti) SIS
(d) TI-wertaeafa (iv) TfeH |r=ETg
<
@ () () (d)
(1) @v) () (i) (1)
(2)  (v) () (@) (i)
) ) (@ @) ()
(4) (@) @) (@v) (i)
rorons |1 57
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95.

In the context of self governance match the List - I with List - II and select the correct
answer from the code given below :

List -1 List - II

(a) Khariya (i)  Doklo - Sohor
(b) Santhal (i) Manaki Munda
(c) Ho (iii) Majhi Paragana
(d) Munda Oraon (iv) Padha Panchayat
Code :

@ () © @
V) @ @ @) @
@ @ @) O
G O @) @ G
@) v 0 @) (@

Read the following paragraph carefully and answer the questions from 96 to 100 :

Among the many “Sasandiris” of lower region of ‘Latar-disum” or “Panchpargana” the

‘Sasandiri’ of Chokahatu village located between Bundu and Barenda is largest one in every respect.
It is spread over about seven acres of land and the number of flat stones which looks different are
more than seven thousand. Many of them are in the form of grey archeological remains. Many of
them are under the earth and some have subsided into earth.

96. Select the appropriate title for this paragraph :
(1) Sasandiri of Chokahatu (2) Latar-disum
(3) Sasandiri (4) Flat Stones
97. ‘Latar Disum’ has been referred to :
(1) Bundu (2) Barenda
(3) Sasandiri (4) Lower region of Panchpargana
98. Sasandiri of ‘Chokahatu’ is spread over how many acre of land ?
(1) Five (2) Seven (3) Seven thousand (4) Not known
99. Number of Flat Stone which can be seen are :
(1) Many (2) Some
(3) More than Seven thousand (4) Not known
100. Some Flat Stones are in the form of :
(1) Grey archeological remains (2) Under the earth
(3) Subsided into earth (4) Allabove
-00o0-
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95, ST T o Hed H |at o skl vg=mm = ;

T - 1 gt - 11

(a) w@fea (i) SrRAl-ERER
(b) HdA (ii) HhR! guel
€ @ (iii) TR IEE
(d) Hqosr - 39 (iv) T T
e :

@@ () (o (d

1) @) @ @) @

2 @) @v) @) (i)

®) @ @) @@ ()

4) (v) (@) () (i)
Freafafaa ufiese @t &= @ o i wy= W& 96 W 100 T ST ¢

‘TR-fega’ st TR % e TR % 3Te SEAfed | | qug 3R sial % i | Hiehrerg e
T FEATGH & YohR & Tl 91 § | I8 THT 91 Tehs STHH § Thetl 5ol ©, 31X S1HiF & S0 31e § foem
et fore ufgali i Sen O TR ¥ SR T T W h Y GaE] w9 H § 1 6 gR SHi & Y E,
3R FB THH * 3R ot 99 T T
96. T TS hl ST WG T TR ?

(1) <rehrerg 1 FAfed (2) wR-fega

(3) wEAf (4) TRrer-ug

97. ‘wR-fogn’ fhus foae e T 2

1 9I= 2) =
(3) wHAd (4) HEUUH % e gew

98. ‘=IhTer’ e i GHAC fohaH Tehe STHIT TR el g § 2
1) U ) §d (3) W TSR (4) w@ T

99. fewm aret forem ufgai =t G oot 2
(1) 8 R 2 =
(3) HM TSR H W 4) S

100. F= foren vz form =i & €2

(1) ¥ IO (2) e
(3) S % 3T (4) SwdE dH
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Space For Rough Work
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